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Or you can also say; — 9797 D97 90 ©IP &N MION
There he punished them in order that he should admit

OVERVIEW

The X773 offered an alternate explanation why °01° ' maintains by ' 717 that
everything is mm &7 (and in our mwn we rule 7m°). By 3 min we will
accomplish that the >Xn7 will admit if everything is 1212 &7°. However in our
mwn if we say nhn X7, why should the liar admit; he is not losing anything
with this m1m X7,

mooIn explains that according to this second answer, we only punish when it may help

resolve the case -
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However here in our 71wn even if there were a "N%= 9RT -
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For instance if this one claims ‘I found it today’, and this one claims ‘I
found it yesterday’, where there is a °X»7 °X7), nevertheless 01 " would

agree that we rule om0 -
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And we would not rule ¥R X2 7¥ mn X7, for on account of the X7

1, the liar will not withdraw his claim, since he is not losing anything by
maintaining his claim of 7>nR¥7 "IX.

SUMMARY
According to the second answer, *01> " maintains 7212 X7°, only when it will
help resolve the case (and there is a X171 °XT1).

THINKING IT OVER
According to this answer what would M501n maintain in a case of X7°09 XJX,
but there 1s no *X7»7 °X71 (as in the case of 393mm npn of our mwn)?’

" In this case according to the first answer (of *X»7 °X71), then here too "0 " would rule nm X7°. When
there is a "Xn1 "XT1 we are 0°3p, even though it will not necessarily help us resolve the issue.

? In this situation one of them is lying maliciously.

? We can rule mnn X7 on the article and half of the money paid to the 12v. The 721 will receive the money
for his article which he sold. The litigants will be losing their money just as by *w>w .

* See "X,
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